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HKERR R7.4.16 | R7.4.16 | R7.4.16 | R7.4.16 - - - - R7.4.16 - -
ES - B i i i - - - - i - -
b °c 14 14 14 14 - - - - 16 - -
KR °C 15 14 10 14 — — — — 16 — -
KiBE MPN/100mL| <1 <1 <1 <1 - - - - <1 - -

BEMESFRE | 18/100m 0 0 0 0 — — — — 0 — -

oy FrREYSon| {E/10L - — 0 - — — — — 0 _ _

STLST | /1L — — 0 — — — — — 0 — —
pH - 6.4 6.7 6.8 6.6 - - - - 6.9 - -
BE £ <1 <1 <1 <1 - - - - 1 - -
BE 53 <0.5 <0.5 <0.5 <0.5 — — — — <0.5 — —

HKEAR — — R7.5.20 — R7.5.20 | R7.5.20 | R7.5.20 | R7.5.20 | R7.5.20 | R7.5.20 | R7.5.20
S - - - i - i) il i) i & & i
- °c — — 25 — 26 26 26 26 25 25 21
KX °c - - 13 - 19 17 18 16 16 17 15
KBE MPN/100mL — — <1 — <1 <1 <1 <1 <1 <1 <1

REMESFRE | f8/100mL - - 0 - 0 0 0 0 0 0 0

SUFTrRRY DLl {E/10L - - - - - - - - - - 0

STLLT | fE/10L - - - — — - - - - - 0
pH — — — 6.9 — 7.2 7.2 6.8 7.2 6.8 6.1 6.5
BE B - - <1 - < < < < <1 <1 <1
AE i3 — — <0.5 — <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5

HKERR - - R7.6.17 - - - - - R7.6.17 — —
E - — — 5 — - - — - 5 — —
S °c - - 27 - - - - - 27 - -
KB °c — - 14 — — — — — 17 — -
K& MPN/100mL - - <1 - - - - - <1 - —

BEMFRE | E/100m — — 0 — - - - — 0 - -

SUFrREKYSHAl {E/10L - - - - - - - - - - -

STALT | /10l — - - - - - - - - - -
pH - - - 7.0 - - - - - 6.5 - -
B & - - <1 - - - - - < - -
BE B — — <0.5 — — — — — <0.5 — —

HRKFERAH

K& -
KR °c
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w7 EE EEBEA RV I U T FRKRY DY LEREHEERE-ERXR (BEF # %)

B E B B|E & BEKIR SHEIKIR SHE2KIR A KIR KIRKIR AT E KR BEEF /M KR
HKERAR R7.4.3 R7.4.3 R7.4.3 - R7.4.3 - R7.4.3
Kz - 5] 5] 55 - 5] - 5]
KR °c 9 9 9 - 9 - 9
KR °c 10 10 10 - 10 = 1
K& MPN/100mL <1 <1 <1 - 1 - <1
REIESFRE | 18/100mL 0 0 0 - 0 - 0
sy T rRRYSHL {E/10L - - - - 0 - 0
CTLTT {&/10L - - - - 0 - 0
pH - 6.9 6.8 6.8 - 6.7 - 6.9
BE E3 <1 <1 5 - <1 = <1
EE |3 <0.5 <0.5 1 — <0.5 — <0.5
HKERH R7.5.7 R7.5.7 R7.5.7 R7.5.7 R7.5.7 R7.5.7 R7.5.7
ES - il & il & il i il
KR °c 14 13 13 13 14 14 14
Kig °c 13 14 12 15 13 1 1
KB&E MPN/100mL <1 <1 <1 6 <1 <1 5
MR | f8/100mL 0 0 0 0 0 0 0

SUFTrRRY DLl {E/10L - — - — - — —

STLUT | @/ - _ z _ _ - —

pH - 6.8 6.8 6.8 6.4 6.6 6.6 6.9
BE E <1 <1 5 <1 <1 <1 2
EE E <0.5 0.5 2 0.5 0.5 0.5 0.5
HKEARR R7.6.4 R7.6.4 R7.6.4 R7.6.30 R7.6.4 - R7.6.4
K& — BE & i i i - i
KR °c 22 22 22 28 22 - 22
Kig °c 15 14 15 21 15 - 13
PN L] MPN/100mL <1 <1 <1 <1 <1 - 17
BREUIESFMRE | E/100mL 0 0 0 0 0 - 0
syFrREY YLl {E/10L 0 0 0 - - - -
CSTILTCT 1&/10L 0 0 0 - - — -
pH — 6.8 6.9 6.8 6.3 6.6 - 7.0
BE E <1 <1 5 <1 4 - 1
AE |4 <0.5 0.5 1 0.5 1 - <0.5
HKEAR
Kz -
KR °Cc
Kig °Cc

K& MPN/100mL

BREMESFHE | f8/100mL
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M7 EE EEBA RV YU T FPRARY DY LK BEEEHEER-EX (F & # 8 )
% & 13 B| B TENLKIR 15 & KR BHINEKIR AR KGR
BKEAR R7.4.17 R7.4.17 R7.4.17 -

ES - g & BE -
[l °c 23.8 23.5 20.5 -
KR °c 16. 2 11.6 12.4 -
KigHE MPN/100mL — - — -
BRSMEFRE | E/100mL - - - -
U FrRRYCHL E/10L (Gt hear) ‘rREd BRed -
STILDT {&/10L BmHEd BHEY BRHEY -
pH — 7.0 6.5 7.1 -
BE B <0.5 1.2 0.7 —
EE =3 0.1 0.2 1.0 -
BKERB — — — —
Kig - - — — -
b °c - - - —
KiE °c - - - —
NI MPN/100mL — — — —
BSMFRE | E/100mL - - — -
5T RRYSHL| E/100 - - — -
STLCT | @/ - - - -
pH - - - - -
BE B - — — -
EE =3 — — — —
BKEAR R7.6.24 R7.6.24 R7.6.24 R7.6.24
xI& - B B 8 ]
K[l °c 21.5 24 24.0 24.0
K °c 14.5 16.0 16. 2 18.0
PNl MPN/100mL <1 517 261 <1
BSMESFRE | E/100mL 0 5 10 0
gy T rRAY YL {E/10L — - — —
CSTILDT {&/10L — — — —
pH - 7.0 6.4 7.0 6.7
BE E <0.5 7.2 3.2 <0.5
AR E <0. 1 1.8 2.2 <0.1
BKERB
S -
R °c
Kik °Cc
K& MPN/100mL
BSMESFRE | E/100mL
sy FraRY L) {E/10L
CTLLT f8/10L
pH -
BE B
EE =
BKERB
K& -
KR °c
Kig °Cc
NI MPN/100mL
BEIESFRE | E/100mL
sy FrrKYSHual {E8/10L
CSTILDT {&/10L
pH -
BE E
EE =
BKERB
K& -
KR °c
Kig °Cc
NI MPN/100mL
BRSIESFRE | E/100mL
sy FrrKEYSHul {E#/10L
CSTILTDT {&/10L
pH -
BE B
EE B




SM7EE EBEHE RISV T FPZRAKY Doy LEREERE -EX (F & # 8 )
#w & B B B ZRKIR REFEKR BRKIR INEFKIR BA4KIR ZAKIR
BKERB - R7.4.7 - R7.4.7 - R7.4.7
ES = — i - g - g
KR °c — 19.5 - 14.0 - 14.5
KR °c - 16.3 - 8.4 - 13.4
KB MPN/100mL — 1 - <1 - <1
REIESFRE | E/100mL — 0 - 0 - 0
oy FrREYSon| {E/10L — — - - - -
CSTILTCT {&/10L — — — — — —
pH - — 1.2 - 7.1 - 7.2
BE E3 - <1 - 2 - <1
AE =4 — <0.5 — <0.5 — <0.5
BKERB - R7.5.8 - R7.5.8 — R7.5.8
K& = — i - i - i
K[l °c — 22.0 - 17.0 - 16.0
KiE °c - 16.2 - 12.5 - 14.1
KiEE MPN/100mL — <1 - <1 - <1
BRRIESFRE | E/100mL — 0 - 0 - 0
SYTrRRYSHL| {E/10L — — — — _ _
CSTILTCT {&/10L — — — — — —
pH - — 7.3 - 6.7 - 1.2
BE B - <1 - <1 - <1
EE =3 — <0.5 — <0.5 — <0.5
BKERB R7.6.24 R7.6.24 R7.6.17 R7.6.24 R7.6.17 R7.6.17
[UR °c 27.0 28. 31.0 26.5 33.0 29.0
K °c 17.8 17.5 16. 2 20.1 15.3 17.1
XaE MPN/100mL 120 1 13 1 24 <1
BSMESFRE | E/100mL 0 0 0 0 0 0
gy FrrRYSon| {E/10L — 0 0 0 0 0
CSTILDT {&/10L — 0 0 0 0 0
pH - 1.4 1.2 6.9 7.2 1.5 7.1
BE E 4 <1 <1 2 <1 <1
AEE B 1 <0.5 <0.5 <0.5 0.5 <0.5
BKERB
Kz =
KR °Cc
Kig °Cc
PNl MPN/100mL
BRRIESFRE | E/100mL
g T RREY YL {E/10L
CSTILDT {&/10L
pH -
BE 4
EE =
BKERB
S -
[UR °c
Kig °Cc
PN L] MPN/100mL
BEIESFRE | E/100mL
syFrRKYTHL| {E/10L
CSTILCT {&/10L
pH -
BE E
AE 4
BKERB
ES =
KR °c
Kig °Cc
KiE MPN/100mL
REIESFRE | E/100mL
oy FrREY S| {E/10L
CSTILTCT {&/10L
pH -
BE |3
EE =3




